EEXMESHPREZLSIEEELER H B FRKC R

DR = &R NN 1A YR R
Y Q ~
LR wx AP0 2% ouus0 T wR] % om &

SRR Y R D DL E m| % TRENRESHBRE, ST
m| - < R A s EH &N H R R
g
Rm RS E K K| DR B0
ER N EHH
[ I = ARV B S B P W R R0 I (V) B
T £
o U e L L& lvIE vl N IHIwWIVYILIVvIR
I E - d = i< & |m N o N

g ] R e = S - S\ n G VS R - B v T W R SRS VT T

mE N EHO v @ A EL D mP D
| & - T = 540 M mill<| N @
E
=i A EE G R P E N BB )0 m  H
— ) =
m K= oD SHE T E N & =V 1w ¥ o %
m X LRVARBUAR
R A Ho |z
(R HEHSNT—X - ZTHLOTHWRKE V)
B EE n— X « & & N
@ o o1 - x |F
me ) 1 —_ N ..”Em_ a
i EZE 0 — X
o &
EXERN— K |® N
B os no— X | =




R TRFAR A ASRBRENR B % G,

;
11
) 15 ® —% ® 9 @ 5\/6
®) r=5 ®) x=0,—§ ol C0 , 2 ) le -%
©) 7 (10) 9 @y
2
W 34.1 wpg | © 35 mRg | @ 35 s
(B
@ | 5 1) 3 ®) g
4
3
2
1
0 10 15 20 25 30 35 40 45 50 (W)
3 o
) 150 @ 3
@ | 180 ) 6 (%) 0.5 () 33
4
ol (2,1 ) |ofA(=2,1 )|Cc(4 , 4 )
) y=—%x+4 o) y=gw
5
) 2 ) 5 ) 8 (x) 125
W
@l 250 » | 234
@ ®

D a—2 - FHZOHIZFHAD Z &)

SR T2 - F = Bk 5 K % (&

Foa — R
Wmoa — R
Al = — A
WA — 2
MW oo — R
i B

ot

of [ R |3 (I R
g




FEL R ER AiA SR BEE R B #

THI6. 2. 2 FHli

(T mak=— A

fr Y PP = — 2

U B 4

A e

© b 3 1 +
6)) @ b (1) 2 bl
@ a 3 o
(2) 74 (2 RS
3 A o) Vil
@ d 3 X A
&)
4) @ c Y -
® 7 TV
\ 7=
1) ® Sy a ‘f""”””””’/'
1)
2 A / Jeek e
A
(3 EIRE
4) )
4 1) REINEY
(5) Co,
(2) 4
#ifbF R U A
IRUE =&
iy ©)
3 k=2 st
®) REEKFZEF B Y A
) 7
NS
(4) -
=g
(B -E2oa—A - BICOHIZFHADI L)
A=l a—A -7/ Z B OE 5 K % & i
#® F 3 — R
o g — A




RMIEL TRFAR AASBREERNR £ = w6 2. 2 3w

7o 4 w1 O | O m O v X |@ A

4 5 6
K
o= k7 o4 OBD) B 76 =
1 2
(1) T @) A (3) 7 (4) S (5) 7 (6) i T
3 4 5 6 7
v REDYRS (G HIF H) 7 ooy o A A
8 9 10 11
() NATO ) w7 7 A T
1 2 3 4
7 - A 7 5 R A
1 2 3
- 7 D] a A b 7 c 7 (2) A T

(HE—FLEOza—XZOHIEZTRADZ L)
EEEAH a—2 % B OEF K 4 5 A

L
W a2 — R

CH

o

PrA fEfk = — X &
B = —

HE a2 — =




ght

R T R%E PR AR E N 9 S5 e 2. 2 ak

3 @®|My father bought ( them for me on ) my birthday.
@|They're ( going to be a great present ) !
®|Oh, canT ask  ( when your birthday is ) ?
@| Then, ( how about having the same shoelaces ) ?

5 A |Personally,( I think a Shinkansen is better ).
1
B |Because( it is faster than a bus ).
@ I haven't finished it yet.
2
@ It is important for me to do it by myself.
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	Ｒ６　国語　前期（一般）
	R6  数学・前期（一般）
	R6 理科・前期（一般）
	R6  社会・前期（一般）
	R6 英語・前期（一般）

